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YϮ Model Solution ʹ Ϯϱ Marks Marking Notes 
;aͿ 
 
 
 
 

 
𝑚 = ௕ି଴

଴ି௔
= ି௕

௔
  

𝑦 − 0 = ି௕
௔

(𝑥 − 𝑎)  
𝑎𝑦 = −𝑏𝑥 + 𝑎𝑏  
𝑏𝑥 + 𝑎𝑦 = 𝑎𝑏  
Eow divide across by 𝑎𝑏  

𝑥
𝑎

+
𝑦
𝑏

= 1 

  
Kr 

𝑚 =
𝑏 − 0
0 − 𝑎

=
−𝑏
𝑎

 

𝑦 = 𝑚𝑥 + 𝑐  =>  𝑦 =
−𝑏
𝑎

𝑥 + 𝑐 .    
 But (𝑜, 𝑏) is on this line, thus 

 𝑏 =   
−𝑏
𝑎

(𝑜) + 𝑐      
 ∴  𝑏 = 𝑐 

Equation 𝑦 = ି௕
௔

𝑥 + 𝑏   
                   𝑎𝑦 = −𝑏𝑥 + 𝑎𝑏  
𝑏𝑥 + 𝑎𝑦 = 𝑎𝑏  
Eow divide across by 𝑎𝑏  

𝑥
𝑎

+
𝑦
𝑏

= 1 

  
Kr 

(𝑎, 0)  ∈  𝑦 = 𝑚𝑥 + 𝑐 => 0 = 𝑚𝑎 + 𝑐 
=> −𝑚𝑎 = 𝑐 

(0, 𝑏)  ∈  𝑦 = 𝑚𝑥 + 𝑐 => 𝑏 = 𝑐  

∴ −𝑚𝑎 = 𝑏 => 𝑚 =
−𝑏
𝑎

 

 Equation 𝑦 = ି௕
௔

𝑥 + 𝑏   
                   𝑎𝑦 = −𝑏𝑥 + 𝑎𝑏  
𝑏𝑥 + 𝑎𝑦 = 𝑎𝑏  
Eow divide across by 𝑎𝑏  

𝑥
𝑎

+
𝑦
𝑏

= 1 

 
 Kr 

𝑥
𝑎

+
𝑦
𝑏

= 1 

>,S͗  ௫
௔

+ ௬
௕

 
   
(𝑎, 0): ௔

௔
+ ଴

௕
  = 1сϭ or Z,S 

 
(0, 𝑏): ଴

௔
+ ௕

௕
  = 1сϭ or Z,S 

 

 
Scale ϭϬ� ;Ϭ͕ ϰ͕ ϳ͕ ϭϬͿ 
Low Partial Credit:  
Slope formula with some substitution 
 
High Partial Credit:  
Equation of line formula fully substituted 
 
 
 
 
 
Low Partial Credit:  
Slope formula with some substitution 
 
High Partial Credit:  
  𝑚  expressed in terms of a and b, and c in 

terms of b 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Low Partial Credit:  
(𝑎, 0) or ;(0, 𝑏) correctly substituted e.g. 
௔
௔

+ ଴
௕
 

 
High Partial Credit:  
(𝑎, 0) and (0, 𝑏) correctly substituted 
 

  



ϯϱ 
 

;bͿ 
;iͿ 
 
 
 

 
𝑦 − 0 = 𝑚(𝑥 − 6) or 𝑦 = 𝑚(𝑥 − 6) 
Kr 

𝑦 = 𝑚𝑥 − 6𝑚 
Kr 

𝑦 = 𝑚𝑥 + 𝑐  
∴ 0 = 6𝑚 + 𝑐 ⇒  𝑐 = −6𝑚  
 

 
Scale ϱ� ;Ϭ͕ Ϯ͕ ϱͿ 
Mid Partial Credit:  
Equation of line formula with some 
relevant substitution 
 

;bͿ 
;iiͿ 
 
 
 
 
 
 

 
𝑦 = 𝑚(𝑥 − 6) 

4𝑥 + 3𝑦 = 25 

сх 4𝑥 + 3𝑚(𝑥 − 6) = 25  

 
сх𝑥 = ଶହାଵ଼௠

ଷ௠ାସ
  

 
Substitute  this into 𝑦 = 𝑚(𝑥 − 6) 

𝑦 = 𝑚 ൬
25 + 18𝑚

3𝑚 + 4 ൰ − 6𝑚

=
25𝑚 + 18𝑚ଶ − 18𝑚ଶ − 24𝑚

3𝑚 + 4

=
𝑚

3𝑚 + 4
 

 
Kr 

 
4𝑥 + 3𝑦 = 25 ∩ 𝑚𝑥 − 𝑦 = 6𝑚  

 
4𝑥 + 3𝑦 = 25  

3𝑚𝑥 − 3𝑦 = 18𝑚  
4𝑥 + 3𝑚𝑥 = 18𝑚 + 25 

 
                           𝑥 = ଶହାଵ଼௠

ଷ௠ାସ
   

 
4𝑚𝑥 + 3𝑚𝑦 = 25𝑚 
4𝑚𝑥 − 4𝑦 = 24𝑚 
 (3𝑚 + 4)𝑦 = 𝑚 

 

  ∴  𝑦 =
𝑚

3𝑚 + 4
 

 

 
Scale ϭϬ� ;Ϭ͕ ϰ͕ ϱ͕ ϴ͕ ϭϬͿ 
Low Partial Credit:  
Indication of use of simultaneous equations 
 
Mid Partial Credit 

Kne relevant  substitution  
 
 
High Partial Credit:  
𝑥  or 𝑦 value found 
 
 
 
 
 
 
 
Low Partial Credit:  
Indication of use of simultaneous equations 
 
 
Mid Partial Credit 

Kne successful elimination in equations  
 
High Partial Credit:  
𝑥  or 𝑦 value found 

 
  


